LRIL F-6

EROBRR
HE 3.00/(0.5 % 6)
A 2K 1.50](0.5 % 3)
ne 0.50
EEERR 5.00
53 e = IR | BRE | KR=
Bk 6 0.1 0.2 0.3
e = 0.50 3.00
YAl ER
P H
I BISIRBD
i} INTURE
I  EEHMHERBELEE
BREEAR(AT A EHIRY)
I BhE
i} By
m ZEhERH
v Eith
PEd e
P
X5 o= RKEHIRA 0.1 0.2 0.3
a. AE—REAZELN O O O
I 2.0 b. BUIYERI CRAE—FA%ELS @) O @)
c. UALBEALLBIE O O O
a. BIENLBUIMNEFE->TLND O O O
b. RMNEATLETIY O O O
i} 4.0 c. [EREZKEFALTLVELEETIY O O O
d. RS ERELLZLEETIY O O O
e. BEDE|ZE LIFEFIALTLVELELIY O O O
a. BREEDZIH AL O O O
il 2.0 b. 2B R A(IDRAET P OFELLE) @) O @)
c. BASND @) O O
a. EHDEFLLT+5 O O O
v 2.0 b. EMMUETCEARERBRLASETTND O O O
c. HEHTEK O O O
gxiE
I BEREE
I BRERECORYMNEST
I XEFEEREEREITELVE)
= | 53
P H -HIRY
s -EIRY
1)~

BEBL-PIEIRHLTOSETERSD
Bo#RYiRL
Bl —HIX2[EFETRYIRT ZEMNTES,




